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ENGLISH - 40
(Grammar-20)

1) Tick the correct option to complete the following answers:- 1x8=8
)¢ French fought hard.’
@A (b) An (c) The (d) On

ii) ) The plural number of the word “Dynamo” is

(a) Dynamaes (b) Dynamos (c) Dynamoss (d) Dynamoess
iii) The word ‘somebody”’ is a —

(a) Personal (b) Relative (c) Indefinite (d) Reciprocal Pronoun
Iv) The feminine gender of the word “Heir” is —

(a) Heirs (b) Heires (c) Heirees (d) Heiress
v) The word “wisdom” is used as - Noun

(a) Proper (b) Abstract (c) Common (d) Collective

vi) ) Select the suitable Modal Auxiliary to fill in the blank in the following sentence:-
“All the citizens love their country.”

(@) Can (b) Shall (c) May (d) should

vii) The word “Outside” is an —

a) Adverb of place b) Adverb of time
c) Adverb of Frequency d) Adverb of Manner
viii) The preposition in the blank will be:- “ Santu, listen me.”
(@) on (b) by (©) in (d) to
2. A) Fill in the blanks with correct answer of the followings:- 1x4=4

Use “much , more, many” to fill in the following blanks :

a) ‘I don’t have money to buy this house .
b) ¢ years have passed since | met you last.”
c) ‘Heis intelligent than me.”
d) Itistoo 0
B) Do as directed:- 2%x4=8
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i) Punctuate the following sentence :- ‘whats the matter’

Ans:-

iii) ‘He is unable to see.” (Rewrite with Modal Auxiliary Verb)

Ans:-

iv) “You will do the work .’(Turn it into an interrogative sentence)

Ans:-

(Comprehension-10)

6. Read the following passage carefully and answer the question that follow.

Long long ago there was a deep forest in Orissa near the sea, and in the middle of the forest there was
a hill. The local people called it “Nilachal” or the Blue Hill . The sacred river Rohini flowed by the
western side of the hill. On the top of the hill there was a pagoda tree (Kalpadruma) and under the tree
was the image of lord Vishnu in the form of a blue stone . At that time Indradyumna was the king of
Avanti in his own eyes.

i) State whether the following statements are True or False. 2%x2=4

a) Rohini flowed towards the east of the hill.

b) Avanti was once ruled by Indradyumna.

i) Complete the following sentences with information : 1x2=2

a) Nilachal was a

b) Under Pagoda tree there was

iii) Answer the following questions in brief : 2%x2=4
a) What was on the top of the hill ?
Ans:-

b) Who was Indradyumna ?

Ans:-

(Writing & Spoken Expression-10)
3. A) Tick the correct option to complete the sentences: 1x4=4
i) How would you reply when someone says “Good night to you!” ?
a) Thanks! b) It’s ok ! ¢) Good Night ! d) Welcome!

i) How would you refuse when someone offering you something ?

a)No ! b) No thanks ! c) Yes! d) Surely 1!
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iii) How would you ask time to someone ?

a) Time ? b) Tell the time

¢) May I know the time , please ? d) What’s the time by your watch now ?
Time: 1:15 pm

To express it what would you say?

a) It’s 1:15 b) It is one Past Fifteen c¢) Itis one past quarter d) All of these
B) Fill in the blanks with the correct answers :- 1x1=2
1) Hurrah!=Joy, for sorrow?
ii) Sure >> surely!, Certain>> ?
C) Answer the following questions: 2%x2=4

i) Suppose you want to help someone. How would you express it ?
Ans:-

ii) “Let us play now.” What does the expression mean?

Ans:-

GENERAL SCIENCE -20

A) Tick the correct answers: 1x6=6
i) Abnormal elements of soil is —

a) Composed [ ] b) Sand [ ] c) Plastic[ ] d)Mud [ ]
i) ‘World Environmental Day’ celebrated on —
a) 5" September[ 7 b)5™ June [ ] )5 March[ ]  d)5™ August[ ]
iii) Tide happens in a day —
a) 2times|[ ] b) 3times[ ] c) 3times|[ ] d) 4 times[ ]
iv) Main element of West Bengal .
a) Coal [ ] b) Iron[ ] c) Bauxite [ ] d) Copper [ ]
v) Which is the fundamental right of child ?

a) To preview [ ] b) Tolearn[ ] c)Toknowself[ 7 d)Al[ ]
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vi) Structure of the earth orbital .
a) Circular [ ] b) Elyptigl [ ] c) Semicircle[ ] d) Rectangle [ ]

B) Answer the following questions briefly . 1x6=6
i) What are the unusual element of the soil ?

Ans:-

i) Where will you find Ajay River ?

Ans:-

iii) Which part of West Bengal is located in plateau region ?
Ans:-

iv) How large is the Sun than the Earth ?

Ans:-

v) What is the full form of ORS ?

Ans:-

vi) In which forest Royal Bengal Tiger present ?
Ans:-

C) Answer the following questions:- 2x4=8
1) Name two extinct birds .

Ans:-

i) What is the reason of tide ?
Ans:-

iii) What is living fossil ?

Ans:-
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iv) Name four plants which are used to make medicine .

Ans:-

MATHEMATICS — 40
A) Tick the correct answers: 1x14=14

1) 489, 541, 654, 953, 783 — if the first and second digit of these numbers are interchanged , the
largest number will be —

a) 953 b) 783 c) 489 d) 654

i) Fill in the blank space :-

DO @O @
)

a) 30 b) 72 c) 32 d) 44
iii) 552847 = 500000 + +2000 +800 +40 +7
a) 50000 b) 5000 c) 25000 d) 2547

iv) Which number is different from other ?
a) 7 b) 9 c)4 d) 6
V) The symbol ninth after the seventeenth number from right is —
M4ET%J9IB@UBN#F1V7X24H3Y53%6K
a) A b) % c) 4 d) Y

vi) Which figure has area = 8sq units & perimeter =12 units

)l | b) ) d)
vii) Perimeter of = 2( Length +Breadth )
a) Square b) Rectangle ¢) Trapizium d) Rhombus

viii) What is the measurement of angle at 2 o’ clock —
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a) 30° b) 45° c) 60° d) 48°

ix) If ‘white’ is known as ‘blue’, ‘blue’ is known as ‘red’, ‘red’ is known as ‘yellow’, ‘yellow” is

known as ‘green’ ‘green’ is known as ‘black’, then what is the colour of blood ?

a) Red b) Yellow c) Green d) Blue

X) Diameter = 2 X

a) perimeter b) chord c) radius d) area
xi) Fill in the blank space: 1,4,9, ____ | 25.
a) 12 b) 15 c) 16 d) 18

xii) Vivek hires a bicycle for 3 hours , how much should he pay ?

Rent of abicycle : First hour — Rs. 7, Next every half hour : Rs. 3

a) 13 b) 19 c) 22 d) 30

xiii) There are 3,00,000 tablets in box each weighing 20 miligram, Express tablet weight of the box
tablets in kilogram .

a) 6 b) 60 C) 6.6 d) 606

xiv) How many parts of the picture have ¢x’ symbol ?

+ |- |x | = |+ |-
X | =]+ |- |x |+
+ |- x| =]+ |-
X |~ |+ |- |x |+
)5 )3 ok d)5
B) Answer the following questions : 2X7 =14

i) Write in words : 137211 =7
Ans:-

i) Which one is not symmetric ? AFCE
Ans:-

iii) Fill in the blanks : 0.25 x 12=0.25x3+0.25 X 3+0.25 X  .......cccciiininnnn..
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iv) A scores 4,5 and 9 in three examinations . What is the average score of the student ?

Ans:-

V) 12.5% of 600 = ... ?

Ans:-

vi) Can a triangle has two right angles ? Explain it .

AnNs:-

vii) Express in the lowest term of faction : 45%

Ans:-

C) Answer the following questions : 3x4 =12

i) Find the average of odd numbers between 40 and 50.

i) 4.63 x 5.3 =

i) Simplify : 25 + [ L+{ 4+(75 + 4)
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iv) Match A and B column.

A B
3
a) E i) 1
19 19 .
b) Z - H i) 10.8
oy, 1
c) One tenth |||)1E
18
d)o.9 x 12 |v)?
1 1
e)g V)B
1
18

For Rough Use
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